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» Reading Comprehension 4 ievei2

Directions: Read the passage. Then answer the questions below.

Passage

Yoshi is hungry. Yoshi wants to eat.

Yoshi walks to the store. Yoshi walks to the grocery store. Yoshi walks to the
grocery store because he wants something to eat.

Yoshi arrives at the grocery store. It is late. The sky is dark.
Yoshi buys an orange, an apple, a banana, and a mango.

The orange costs 50 cents. The apple costs 60 cents. The banana costs 10
cents. The mango costs 90 cents.

Questions

1) Yoshi walks to the grocery store because
A. he wants something to buy
B. he wants something to eat
C. he cannot sleep
2) What time does Yoshi arrive at the store?
A. at night
B. in the morning
C. in the afternoon
3) Yoshi buys
A. a pineapple

B. atomato
C. a banana
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4)

5)

6)

7

8)

9)

Yoshi does not buy

A. a mango
B. aplum
C. an apple

What kind of food does Yoshi buy?

A. fruit
B. meat
C. vegetables

How much does the orange cost?

A. 50 cents

B. 60 cents

C. 70 cents

What is the most expensive thing at the store?
A. the orange

B. the mango

C. the banana

What is the least expensive thing?

A. the mango

B. the apple

C. the banana

How much money does Yoshi spend at the store?
A. 2 dollars

B. 2 dollars and 10 cents
C. 2 dollars and 20 cents
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Answers and Explanations

1) B
In the beginning of the passage, it says “Yoshi walks to the grocery store because he
wants something to eat." Choice (B) is correct.

2) A
In the middle of the passage, it says “Yoshi arrives at the grocery store. It is late. The
sky is dark.” This means that Yoshi arrives at night. Choice (A) is correct.

3) C
In the middle of the passage, it says "Yoshi buys an orange, an apple, a banana, and a
mango." This lets us know that Yoshi buys a banana. Choice (C) is correct.

4) B
In the middle of the passage, it says "Yoshi buys an orange, an apple, a banana, and a
mango." This lets us know that Yoshi does not buy a plum. Choice (B) is correct.

5 A
In the middle of the passage, it says "Yoshi buys an orange, an apple, a banana, and a
mango." These are all kinds of fruit. Choice (A) is correct.

6) A
At the end of the passage, it says "The orange costs 50 cents." Choice (A) is correct.

7) B

At the end of the passage, it says "The orange costs 50 cents. The apple costs 60 cents.
The banana costs 10 cents. The mango costs 90 cents.” The most expensive thing is the
mango, because the mango costs 90 cents. The mango is more expensive than all
others. Choice (B) is correct.

8) C

At the end of the passage, it says " The orange costs 50 cents. The apple costs 60
cents. The banana costs 10 cents. The mango costs 90 cents." The least expensive
thing is the banana, because the banana costs 10 cents. The banana is less expensive
than all others. Choice (C) is correct.

9) B

Yoshi buys an orange. The orange costs 50 cents. Yoshi buys an apple. The apple costs
60 cents. Yoshi buys a banana. The banana costs 10 cents. Yoshi buys a mango. The
mango costs 90 cents. 50+60+10+90 = $2.10 Yoshi spends 2 dollars and 10 cents.
Choice (B) is correct.
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